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lll Semester B.Com. Examination, April/May 2O21
(2015 - 16 and Onwards) (CBCS) (F+R)

COMMERCE
Paper - 3.6 : Quantitative Analysis for Business Decisions - ll

Tlme : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely in English or in
Kannada.

SECTION . A
\ a s * l  \
e^J?cJa f - C^,

1. Answer any five of the following sub-questions. Each sub-question carries
2 marks. (5x2=10)

ddnd obdlcnddo oub e,ld-ddferi w$0ru $e erud-$d;i oddr erodrlq;b.

a) What is meant by perfect correlations ?
dodBeor dddouot' .rodde$ ?

b) Distinguish between interpolation and extrapolation.

"q o Bor dJa eJ edo" ab* a4,.g, dB eJ edd "ad) dd drordddl een

c) Expand (y - 1)u = 0.
(y - 1)u = o eddla{o't.

d) Mention the methods of sampling.
d>doorr at'dddloeno.

e) What is probability ?
doddPeo$d aoddeob ?

f) In a series r = 0.6 and N = 36 of a distribution. Find out the probable error.
uocb ddsdo$O-r = 0.6 ab* N = 36 ernqd erdd doqnd, doedddldod:aaouro.

g) What are the main components of time series ?
ddroll? ddsdo$ drc, eroddq;b o:nddl f
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SECTION - B
Sqrod - zf

Answer any three of the following questions. Each question carries 6 marks. (3x5=lg)
dddod olndroaddro *.rodr ddferl w$oxr. gs ddf ercb eeodrldc.

2. Ranks given in a beauty contest assigned by two Judges given below :
JudgeA 1 2 3 4 5 6 7 8 9 10
JudgeB I  T 6 4 S Z 5 1 9 10
Calculate Rank Correlation.
#odd, {drorro-"%s Be{rriaddro s dddod $eeedddlCIead;ood.ge{lrindA 1 2 3 4 5 6 7 8 I 10
9e{;rrndB 8 T 6 4 g 2 S 1 9 10
$ ed dddouot'ddl dod>&a ouo.

3. calculate the two regression on equations from the following data.
X= 10, V= 20, oX = 1.50, oy = 2.00, r= 0.60.
ddn d adddeo d o dd> b ozje.rdoJ: ddd: eoddddl do d:b a obo.
I= 10, V=20, o.X= 1.50, oy= z.oo,r= 0.60.

4. Fit a straight line to the following data by the method of least squares.
Year za14 201s 2016 zo17 2o1g 2019 2o2o
Production
(in'000' Units) 1ZA 1S0 1g6 144 129 182 150
ddnd dE odderl o exrS{ eo a p dde_&r rf Edq eedda:,.
ddr 2014 2ois zarc 2afi 2o1a 2o1g zo2o
woardd
('000' Units) VA 1S0

5. The probability of an Indian having a car is 26o/o the probability of Indian having
a house is 40%. The probability of Indian owing acar and a house is 1g%. What
is the probability that Indian owns a car or a house ?
t%.WadeeoJ:oll aedq dooadcd dogJdoeoJ:d dedd 26, d$do$dl dooadcd
5oqld&eoJrd dedd 40 -dq*t abd odddq dooa$d dorfdOeorie dedd 18.
aando-eFdseo$$ o$ erfraa il>d aooo&dloenJdeeo$dobe$ ?

6. Distinguish between correlation and regression.
dddozuot' dlt ddrb eoddd drorddd$., oe,rro.

-2-

186 144 128 182 150
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SECTION - C
S?iiad - 3

Answer any three of the following. Each question carries 14 marks. (3x 14=421
odnSmddo dlJocb ddJeri w$o:r. de ddJ dooaor* eroddq;b.

7. Compute Pearson's correlation Co-efficient for the following data.
x 77 60 30 53 14 gS 90 ZS 56 60
y 35 38 60 4e S0 40 35 56 g4 42
ddri dro rd$d a dddp o d a oJ: od{d d{e or:o d dddo u o fr dd1 do d)b a obo.
x 77 60 30 53 14 gS 90 ZS 56 60
y 35 38 60 40 S0 40 gS56 9442

8. The following are the annual premium charged by an insurance company for
a policy of t 1,000. Estimate the premium payable at the age of 26 ny uiing
Newton's method.
Age (Years) 20 25 g0 95 40
Premium
(for t 1,000 policy) Zg 26 30 gS 42
t 1 ,000dd mo:rri Ddra dodOowod aQdenrbd anard gecro$od sdd dddodoSd.
2 6 de do$Rjdo_dgrj era d g eclr o$oe d", *rn ddd a p dood e, o crD ar dn a.
do$f*(ddrrlSO_) 20 25 g0 gS 40

"bea)o$e (dJo. ?rdo_)
(d.o. 1,000 roO:rr{) 2g 26 gO 95 42

9. Calculate trend values by the method of least squares from the data given below.
Year 2011 2012 2o1g za14 zols 2016 2o1T 2018
sales 70 Bo 1go 144 138 120 174 190
(t Lakh)
Plot the values on a graph, arso estimate the sales for 2019.

f$,f1t,Dpdd,o-,r"ocb ddd ddgry.d dnoo&o aarto deand{o$o_ goar
&JeJo$dl rbdxr ab* 20 1 9 d erocofi dn oa o^ldd1 dod:aaouo.
ddr 2011 2012 2afi 2014 2015 2016 2o1T 2o1B
dnuou 76 80 130 144 138 120 174 190
(dJo. e#CO_)
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10. Estimate the production for the years 2015 and 2017 with the help of the following
data.
Year 2012 2013 2014 2015 2016 2017 2018
Production 200 220 260 ? 350 ? 430
(in '000 tonnes)

dCri Sord$d ero8erodrld daaodoOod 2015 $dr 2017 ddrd woddo$d1
ecctJoo dJDa.

ddr 2012 2013 2014 2015 2A16 2017 201B

srugadd 200 220 260 ? 350 ? 430
c

('000 u3Ffrl$ro_)

11. The following data relates to the number of passenger cars (in millions) sold from
Year 2010 2011 2012 2013 2014 2015 2016
Number 6.7 5.3 4.3 6.1 5.6 7 .9 5.8

a) Fit a straight line trend to the data and obtain trend values.

b) Estimate the sales of cars for the year 2020.

#d dors$d dna*g 2010 ood2016d ddri dnadJ ad:dd dnoe; (tuoo$qrdo_).
ddr 201 0 2011 2012 201 3 2014 201 5 201 6

dnoau no&td 6.7 5.3 4.3 6.1 5.6 7.9 5.8

a) douldrd erot erodrlsri ddd dqgdrqdoool, d* dfoorriddldodrbtrogro.
b) 2020de ddrd m$dd dnoauddlerocnd'l.


